X=—f+cosmt
Sketch the curve represented by the parametric equations for =1 <1 <3,

y=3t-¢

Include the rectangular co-ordinates of 5 points on the curve. Indicate the orientation (direction) of the curve,
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Eliminate the parameter and write the rectangular equation for the curve represented by the parametric SCORE: /3 PTS
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equations y - Write your final answer in the form y as a simplified function of x,
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Simplify the expression (n=a)) . SCORE: /3 PTS
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Find the value of Z(%(p!) +1). SCORE: /3 PTS
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The parametric equations and both correspond to the rectangular equation y = x+2. SCORE: /2 PTS
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Explain how the parametric curves differ from each other. (D / @ /
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A cat jumps off a 6 foot shelf at an angle of 30° with the horizontal, at a speed of 4 feet per second. SCORE: /3 PTS

Find parametric equations that model the cat’s trajectory (path).
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Write — - — +———+————+ —— in sigma notation, SCORE: /4 PTS
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Find parametric equations for the hyperbola with vertices (£7, 0) and foci (19, 0). SCORE: /3 PTS
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Write the first five terms of the sequence defined recursively by «,,, = n’ —2a,, a =3. SCORE: /4 PTS

Write your final answer as a sequence,
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